Converting Celsius to Fahrenheit (A)

93°C = °F 63°C = °F 22°C = °F
43 °C = °F 44 °C = °F 37°C = °F
50°C = °F 34°C = °F 62°C = °F
22°C = °F 19°C = °F 95°C = °F
86 °C = °F 40°C = °F 97°C = °F
23°C = °F 54°C = °F 88 °C = °F
98 °C = °F 91 °C = °F 4°C = °F
47°C = °F 53°C = °F 45°C = °F
54°C = °F 72°C = °F 36 °C = °F
85°C = °F 78 °C = °F 62°C = °F
27°C = °F 98 °C = °F 70 °C = °F
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Converting Celsius to Fahrenheit (A) Answers

93°C = 1994 °F 63°C = 1454 °F 22°C = T71.6°F
43°C = 1094 °F 44°C = 111.2°F 37°C = 98.6°F
50°C = 122°F 34°C = 93.2°F 62°C = 143.6°F
22°C = T1.6°F 19°C = 66.2°F 95°C = 203°F
86 °C = 186.8 °F 40°C = 104 °F 97°C = 206.6 °F
23°C = 734°F 54°C = 129.2°F 88°C = 1904 °F
98°C = 208.4°F 91°C = 195.8°F 4°C = 392°F
47°C = 116.6 °F 53°C = 1274°F 45°C = 113 °F
54°C = 129.2°F 72°C = 161.6 °F 36°C = 96.8°F
85°C = 185°F 78°C = 172.4°F 62°C = 143.6°F
27°C = 80.6°F 98°C = 208.4°F 70°C = 158 °F
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